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In the first lesson we have examined a complete weaving draft,
wherc all Four marts had beea given. In practice howover this is seldom
he case., The drov-cown is omitted cuite often, and sometimes even the
treadling is wissing. e shall see in this lesson how to find the draw-
dovm. Tirst of all we must draw on a piece of graph-paper the threading
draft, the tic-up draft, and the treadling draft as in fig.l, all

exactly in line with one another.
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VWle have nunberecd here all the heddles, heddle-frames, treadles,
and picks of weft to describe better the operation of drawvirg do
Usually only trecadles and heddle-frames have numbers ang cven these
arc not marlked on the draft.

The first pick of weft has a treadling mark directly under the
treadle No.h. Ve “et this information from the treadling draft by
looldng up from the mark until we mect the corrcsponding treadle in the
tic—up. The sccond information is furnished by the tic-up draft. It
shows that the treadle No.4 istied to the frames Jo,l and 2., If we press
this trcadle, and if the loom is of the sinking shed type, the framcs
I'o.1 and 2 will go down. Mot only framcs of course but also all the
hediles which arc suspended in these frames. Since cach hedcle has
a warp end threaded through its eye, a certain number of warp ends will
go dewm as wellg-when all the remainring ends will go up - thus forming
a shed. iJow the question is: which ends go down? This (third) infor-
mation is supnlicd by the threading draft., It shows that the following
ends are threaded through tie hedlles on frames 1 and 2: 1,4,5,7,0,11,
12,12,16,17,19,20,23, and 24. Conscquently all these cnds will be
covered by the weft. How we assume that the warp is white add the weflt
— black. Thus the first line of the draw-dovm being & picture of the
first pick of weft, will have the warp-ends: 1,4,5,7,0, and so on -
covered with black weft., This linc should really lool: as in fip.2, but
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obviously such rnethod of drawiang would take too ruch time. For this
reason we do not try to represent the cloth as if looked at through a
nicroscope, but we simplify the picture by marking whole scuares cither
black or white. Instcad of fig.2 we have fig.3

Fig.3

In other words we make the dravw-dowvn as if instcad of rnore or less roun
threcad we werce using flat and thin ribbon without any spacc left betwecen
tlic shots of weft or ends of warp.

The sccond pick of weft is made with treadle 3 (directly above
the 2-nd mark in the trecadling draft). This trcadle is tied to frames
2 and 3. These two frames operate the following warp cnds: 1,2,5,06,7,
10,11,13,14,17,16,19,22, and 23. Conscquently in the sccond lince of the
drav~dovn the above warp cnds will be covered with woft, and reprcsented
by Dblack sguares. i

The third pick of woft is thrown when the treadle {lo,2 is de-
pressed (pleasce check on the draft). This treadle is tied to francs 3
and 4, and it oinks hoddles and warp-cnds MNo.: 2,3,6,9,10,14,15,10,21,
and 22. All these warp-cnds will be covered with black woft and narked
accordingly in the third line of the drawedown. Finally the fourth pick
of weft is made whon the treacdle lJo.1l pulls down heddle-frames 1 and 4,
so that the black weft covers warp-cends MNo.: 3,4,8,9,12,15,16,20,21,24,

Now we come to the 5-th pick of weft. Looking up from the 5-th
nark on the trecadling draft we can sce that it has been made in exactly
thc same way as the l-st piclk: with treadle No.i4. Thus the 5-th linc
must be identical with the l-st line of the draw-down. Provided that we
did not malke any mistakes, we do not need any morc to look at the tie-up
and the threading draft, but we can simply copy the first linc. The
next pick is the sane as the 2-nd, so that we can draw the 6-th line by
copying the 2-nd, and so on. Thc 7-th and the 1l-th line arc the sane
as the third, the 8th and the 12th - the same as the fourth. The best
way of copying the lines already made in the draw-down is to put a picce
of paper across the draft just above the copied linc, so as to cover
the upper part of the draft.

Once we have understood the
o o rclationship between diffcrent
T Xy }i?~v£§w»x woog parts of tho draft, we do not neced
;xxv XX x X o to count picks, trcadles, francs
; Lo X, and warp-cnds. We simply stick to
| ,g | é; x the following rules:
o : ! X, From the line in the draw-
gk *ﬁﬁ**“ S *X% down which is being made look
X horizontally to the treadling
X draft. Iind the corresponding
treadling mark. Follow it up (ver-

" tically) to the tie-up draft.

° Find the frawmes ticd to the corres-
ponding treadle (fig.4), and follow them horizontally arain %o find the
warp-ends threaded through these frames. Now from all thesc — drop dovm
vertical lines (imaginary or made in pencil) until they cross the line
in the draw-dovm which is being worked at. ALL SQUARTS VHZIDT THESE LINTS
CROSS THE DRAV-DOVII LINE SHOULD BT BLACK. If not there is a mistake.
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It often hanpens that the student will malke the draw-down cor-
rectly, but still will be quite confused about the interpretation, i.c.
will not see any relationshi; between the paper worlk, aud the aciuval
weaving, The following exercise any dridie the gzp: Give the student
a sheat of sraph-Haper with 4 ddvisions o the inch. 'lalie hin draw the
thraaﬂin;, tic—up aud treadling drafts in nrovwer order. oy in the place
resorvelCior the draw-down cut with a razor-blade all vertical lines on
a

tlie graph paner. From a niecc of blask naper cut a number of strins

a little less than one quarter of an inch in width, ard slightly louger
than the vidth of the draw-dovm. xplain the situaation when the firnt
piclz of weft ig to be made - vhich warp-ends are sunk and yhich iced.

5
a

Then with & noncil actually malie a shed in the paper, an
x .
t

cl ra
b d insert one of
the black strins of paper. Push it up uniil 4% is in line wvith the first
treadling mark. Procecd in the vith the sccond, third, and so
on - Jline of the draw-down. The 3 woris rasulting fron thene one
rations will 1ock siniler to both the drow-cdown and the actual worl on

the loom. ITow malie the student copy the whole dra’t on the normal granh-
paser (O or 10 divisions per inch) this time without cutti:z. lalze hidn
comparc all threc; the weaving on the loom, the basket worl:, and the

.

final draft. If this won't heln - nothing will.

SIESRRCE O O I

WAFFLE WEAVES

Vaffle ‘leave in handweaving mecans the same as Honevconmb in
industrial terninology, and has nothing in covion with Colorial iloncvconb.
It is a “three—~dimensional” weave i.,¢. that it has a certain denth, or
thickness not duc to the thickness of the yarn, but to the war the warp

and woft are intervoven. DBecaunz of thb tliru dimengion the drav-downs
give orly an anpromimate victure of the fabric: the lounp flicats both in
warn and weft renrecent the raiged areas and the tabby —~ the sunlk areas.

We can divide rougnly all wafflc weaves into: sin~le (one o
float in warn and one in weft in each rewnzat), louu“ {two floats in
each dircction, single face (waffle efiect only on one si:le of the

fabric), and double face.

fig.l shows the draft for the smallest and simplest waffle,
woven on four frames. Fij.2 is the dame fabric woven on a (6 huclaback
droft. This is Coulble face, single waffle.

On fig.> we have single faco,

sinzle wvaffle, The squares are
larger than in fig.1l. The draft To.l has still larger squares

The droft on fig.5 gives double face, double waffle
woven also on a 10x10 huckaback threading e¢s in fig.G.

A1l the above drefts were for & fromom, CGn 5 frames ve can weave
“perfectt waffle (gsee fig.8) — or rather perfect on the drav-dowr — in
practice all waffle weaves give distorted squares,because the Lensth of

vertical and horizontal floats can not be the same, IFor irstance in
fipeO thie floats in varp are longzger than the floats in weft. If we chiange
the tie-up to the one on fig.7, we shall Lave the floats in wef!
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than the ones in warp.

It can be

The drafts for waffle are not always
fige9. There is a groat variety of drafts fo
bul thery do not mresent any »articular advan

symmetPical,y as shown in
r 119h r nunver of {rames,
1ta



